

Contents lists available at [ScienceDirect](http://ScienceDirect.com)

# Journal of Mathematical Analysis and Applications

[www.elsevier.com/locate/jmaa](http://www.elsevier.com/locate/jmaa)


## A Trotter–Kato type theorem in the weak topology and an application to a singular perturbed problem

Gabriela Marinoschi

*Institute of Mathematical Statistics and Applied Mathematics of the Romanian Academy, Calea 13 Septembrie 13, 050711 Bucharest, Romania*

### ARTICLE INFO

#### Article history:

Received 15 February 2011

Available online 22 July 2011

Submitted by J. Mawhin

#### Keywords:

Trotter–Kato theorem

Weak convergence

Semigroups

Degenerate parabolic equations

### ABSTRACT

In this paper we prove a result of the Trotter–Kato type in the weak topology. Let  $\{A^\varepsilon\}_{\varepsilon>0}$  be a family of quasi  $m$ -accretive linear operators on a Hilbert space  $X$  and let us denote by  $J_\lambda^\varepsilon$  the resolvent of  $A^\varepsilon$ . Under certain conditions, the result states that if for any  $x \in X$  and  $k = 1, 2, \dots$ , the sequence  $(J_\lambda^\varepsilon)^k x$  converges weakly to  $(J_\lambda)^k x$  as  $\varepsilon \rightarrow 0$ , where  $J_\lambda$  is the resolvent of a linear quasi  $m$ -accretive operator  $A$  on  $X$ , then the sequence of the semigroups generated by  $-A^\varepsilon$  tends weakly to the semigroup generated by  $-A$ , uniformly with respect to  $t$  on compact intervals. The result is different from other results of the same type (see e.g., Yosida (1980) [9, p. 269]) and gives an answer to an open problem put in Eisner and Serény (2010) [3]. It is finally applied to compare the asymptotic behavior of a singular perturbation problem associated to a first order hyperbolic problem with diffusion.

© 2011 Elsevier Inc. All rights reserved.

### 1. Introduction

In a Hilbert space  $X$ , with the scalar product and norm denoted by  $(\cdot, \cdot)$  and  $\|\cdot\|$  respectively, let  $A^\varepsilon : D(A^\varepsilon) \subset X \rightarrow X$  be a family of linear quasi  $m$ -accretive operators and let  $A : D(A) \subset X \rightarrow X$  be a quasi  $m$ -accretive operator, such that the sequence of the resolvents of  $A^\varepsilon$  tends weakly to the resolvent of the operator  $A$ . We are concerned with the proof of the weakly convergence of the sequence of semigroups generated by  $-A^\varepsilon$  to the semigroup generated by  $-A$ . We recall that the Trotter–Kato theorem (see [9, p. 272]) amounts to saying that the strong convergence of the sequence of resolvents of  $A^\varepsilon$  to the resolvent of  $A$  ensures the strong semigroup convergence, i.e.,  $e^{-tA^\varepsilon} x \rightarrow e^{-tA} x$  as  $\varepsilon \rightarrow 0$ , for any  $x \in X$ , uniformly with respect to  $t$  on compact intervals. We also mention that a Trotter–Kato type convergence theorem in a weak topology of a Banach space follows by a general result given in [9] (see p. 269) requiring the equi-continuity of the family of operators  $\{A^\varepsilon\}_{\varepsilon>0}$  in locally convex Banach spaces. The validity of Trotter–Kato theorem in the weak topology is also discussed in [3] for  $C_0$ -semigroups in Banach spaces and it is shown that the direct analogue (i.e., by replacing the strong convergence of the resolvent sequence by the weak convergence) fails.

We prove here a different weak version of this theorem in the context of quasi  $m$ -accretive operators in Hilbert spaces, specifying that as far as we know the result presented is new. Its necessity arises in the numerical study of concrete problems and this type of result constitutes a good tool for these applications. Moreover, we think that it may be interesting by itself because it gives an answer to the open problem put in the paper [3].

This result sets a functional framework for the study of the asymptotic behavior of parabolic boundary value problems with a small parameter intervening in the diffusion part (see examples in [7,6]) in the case when the (strong version of) Trotter–Kato theorem cannot be used. In such situations the strong convergence of the resolvents cannot be proved due to the absence of some estimates necessary for the compactness. The general result established in this paper is illustrated for a hyperbolic equation with diffusion and shows that the singular perturbed equation obtained by completing the deficient

*E-mail addresses:* [gmarino@acad.ro](mailto:gmarino@acad.ro), [gabimarinroschi@yahoo.com](mailto:gabimarinroschi@yahoo.com).

diffusion operator approximates in a certain sense the hyperbolic equation. This is of benefit especially in the perspective of numerical computations since the numerical solutions to the perturbed equation (which is of parabolic type) are more stable than those computed in the limit case.

**2. Main results**

We recall that a linear operator  $A$  on a Hilbert space is called quasi  $m$ -accretive if there exists  $\omega > 0$  such that  $I + \lambda A$  is positive semidefinite and surjective on  $X$ , for any  $\lambda$ ,  $0 < \lambda < \omega$ .

For any  $\lambda > 0$  we denote by  $J_\lambda = (I + \lambda A)^{-1}$  and  $A_\lambda = \frac{1}{\lambda}(I - J_\lambda)$  the resolvent and the Yosida approximation of  $A$ , respectively. Similarly, we set  $J_\lambda^\varepsilon = (I + \lambda A^\varepsilon)^{-1}$  and  $A_\lambda^\varepsilon = (A^\varepsilon)_\lambda$  the resolvent and the Yosida approximation of  $A^\varepsilon$ .

The main result of this paper resides in Theorem 2.1 below. We indicate the weak limit by  $\rightharpoonup$  or by  $w\text{-lim}$  and by  $(\cdot, \cdot)$  and  $\|\cdot\|$  the scalar product and norm in  $X$ , respectively.

**Theorem 2.1.** *Let  $\{A^\varepsilon\}_{\varepsilon>0}$  be a family of linear operators in a Hilbert space  $X$  such that  $(I + \lambda A^\varepsilon)$  is  $m$ -accretive for  $0 < \lambda < \lambda_0$  with  $\lambda_0$  independent of  $\varepsilon$  and*

$$w\text{-}\lim_{\varepsilon \rightarrow 0} (I + \lambda A^\varepsilon)^{-k} x = (I + \lambda A)^{-k} x, \quad k = 1, 2, 3, \dots \tag{2.1}$$

for any  $x \in X$ . Assume further that the space

$$\mathcal{X} = \left\{ x \in \bigcap_{0 < \varepsilon \leq 1} D(A^\varepsilon); \sup_{0 < \varepsilon \leq 1} \|A^\varepsilon x\| < \infty \right\} \tag{2.2}$$

is dense in  $X$ . Then,

$$w\text{-}\lim_{\varepsilon \rightarrow 0} e^{-tA^\varepsilon} x = e^{-tA} x, \tag{2.3}$$

for all  $x \in X$ , uniformly on any interval  $[0, T]$ ,  $T < \infty$ .

We note that the hypothesis  $\overline{\mathcal{X}} = X$  is in particular satisfied if there is a linear closed and densely defined operator  $G$  such that  $D(G) \subset D(A^\varepsilon)$  for any  $\varepsilon \in (0, 1]$ , that is  $\|A^\varepsilon x\| \leq C\|Gx\|$  for all  $x \in D(G)$ , where  $C$  is a positive constant. For instance this may happen if  $A^\varepsilon = A_0 + \varepsilon A_1$  where  $A_0$  and  $A_1$  are quasi  $m$ -accretive operators and  $\|A_1 x\| \leq C\|A_0 x\|$  for all  $x \in D(A_0)$ .

In Section 3 we give another example which is relevant for the parabolic regularization approach to a hyperbolic equation with diffusion arising in population dynamics.

**Proof of Theorem 2.1.** We shall prove the result in two steps and begin by setting  $x \in \mathcal{X}$ .

For any  $t \geq 0$  and  $x \in X$ , in particular for  $x \in \mathcal{X}$ , we can write

$$\left| (e^{-tA^\varepsilon} x - e^{-tA} x, \varphi) \right| \leq \left| (e^{-tA^\varepsilon} x - e^{-tA_\lambda^\varepsilon} x, \varphi) \right| + \left| (e^{-tA_\lambda^\varepsilon} x - e^{-tA_\lambda} x, \varphi) \right| + \left| (e^{-tA_\lambda} x - e^{-tA} x, \varphi) \right|, \tag{2.4}$$

for each  $\varphi \in X$ .

We have, by Hille–Yosida’s theorem (see [8]) that for any  $x \in X$ , in particular for  $x \in \mathcal{X}$ , we have

$$\lim_{\lambda \rightarrow 0} \|e^{-tA_\lambda} x - e^{-tA} x\| = 0, \tag{2.5}$$

uniformly with respect to  $t$  on compact intervals. Therefore,

$$\lim_{\lambda \rightarrow 0} \left| (e^{-tA_\lambda} x - e^{-tA} x, \varphi) \right| = 0, \quad \text{uniformly on } [0, T], \text{ for any } x \in \mathcal{X} \text{ and } \varphi \in X.$$

Also, we have for any  $\varepsilon > 0$

$$\lim_{\lambda \rightarrow 0} (e^{-tA^\varepsilon} x - e^{-tA_\lambda^\varepsilon} x, \varphi) = 0, \quad \text{uniformly on } [0, T], \text{ for any } x \in \mathcal{X} \text{ and } \varphi \in X. \tag{2.6}$$

Let us show that (2.6) holds uniformly with respect to  $\varepsilon$ , for each  $x \in \mathcal{X}$ . Indeed, let

$$y_{\varepsilon, \lambda}(t) = e^{-tA_\lambda^\varepsilon} x, \quad y_\varepsilon(t) = e^{-tA^\varepsilon} x$$

be the orbits of the semigroups generated by  $-A_\lambda^\varepsilon$  and  $-A^\varepsilon$ , respectively. Then  $y_{\varepsilon, \lambda}$  is the strong solution to

$$\begin{aligned} \frac{dy_{\varepsilon, \lambda}}{dt}(t) + A_\lambda^\varepsilon y_{\varepsilon, \lambda}(t) &= 0, \quad t \in [0, T], \\ y_{\varepsilon, \lambda}(0) &= x, \end{aligned} \tag{2.7}$$

with the properties

$$\|y_{\varepsilon,\lambda}(t)\| \leq e^{\frac{t}{\lambda_0 - \lambda}} \|x\|, \quad \left\| \frac{dy_{\varepsilon,\lambda}(t)}{dt} \right\| = \|A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t)\| \leq e^{\frac{t}{\lambda_0 - \lambda}} \|A_\lambda^\varepsilon x\| \quad (2.8)$$

for any  $t \in [0, T]$ , given by the proof of Hille–Yosida’s theorem.

Also, we have  $y_{\varepsilon,\lambda} \rightarrow y_\varepsilon$  in  $C([0, T]; X)$  as  $\lambda \rightarrow 0$ , as specified before.

We note down the following properties of the resolvent and the Yosida approximation,

$$\begin{aligned} \|J_\lambda^\varepsilon x\| &\leq \frac{\|x\|}{1 - \frac{\lambda}{\lambda_0}}, \quad (A_\lambda^\varepsilon x, x) \geq -\frac{\|x\|^2}{\lambda_0(1 - \frac{\lambda}{\lambda_0})}, \quad \forall x \in X, \\ \|A_\lambda^\varepsilon x\| &= \|J_\lambda^\varepsilon A^\varepsilon x\| \leq \frac{1}{1 - \frac{\lambda}{\lambda_0}} \|A^\varepsilon x\|, \quad \forall x \in D(A^\varepsilon). \end{aligned} \quad (2.9)$$

Subtracting the two equations in (2.7) corresponding to  $y_{\varepsilon,\lambda}$  and  $y_{\varepsilon,\mu}$ , multiplying the difference by  $(y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t))$  and performing some computation we successively have

$$\begin{aligned} \frac{1}{2} \frac{d}{dt} \|y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)\|^2 &= -(A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - A_\mu^\varepsilon y_{\varepsilon,\mu}(t), y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)) \\ &= -(A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - A_\mu^\varepsilon y_{\varepsilon,\mu}(t), y_{\varepsilon,\lambda}(t) - J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t)) \\ &\quad + J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - J_\mu^\varepsilon y_{\varepsilon,\mu}(t) + J_\mu^\varepsilon y_{\varepsilon,\mu}(t) - y_{\varepsilon,\mu}(t) \\ &= -(A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - A_\mu^\varepsilon y_{\varepsilon,\mu}(t), \lambda A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - \mu A_\mu^\varepsilon y_{\varepsilon,\mu}(t)) \\ &\quad - (A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - A_\mu^\varepsilon y_{\varepsilon,\mu}(t), J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - J_\mu^\varepsilon y_{\varepsilon,\mu}(t)) \\ &= -(A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - A_\mu^\varepsilon y_{\varepsilon,\mu}(t), \lambda A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - \mu A_\mu^\varepsilon y_{\varepsilon,\mu}(t)) \\ &\quad - (A^\varepsilon (J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t)) - A^\varepsilon (J_\mu^\varepsilon y_{\varepsilon,\mu}(t)), J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - J_\mu^\varepsilon y_{\varepsilon,\mu}(t)). \end{aligned}$$

Since  $A^\varepsilon$  is quasi  $m$ -accretive we obtain by (2.8)

$$\begin{aligned} \frac{1}{2} \frac{d}{dt} \|y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)\|^2 &\leq (\|A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t)\| + \|A_\mu^\varepsilon y_{\varepsilon,\mu}(t)\|)(\lambda \|A_\lambda^\varepsilon y_{\varepsilon,\lambda}(t)\| + \mu \|A_\mu^\varepsilon y_{\varepsilon,\mu}(t)\|) \\ &\quad + \lambda_0^{-1} \|J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - J_\mu^\varepsilon y_{\varepsilon,\mu}(t)\|^2 \\ &\leq (e^{\frac{T}{\lambda_0 - \lambda}} \|A_\lambda^\varepsilon x\| + e^{\frac{T}{\lambda_0 - \mu}} \|A_\mu^\varepsilon x\|)(\lambda e^{\frac{T}{\lambda_0 - \lambda}} \|A_\lambda^\varepsilon x\| + \mu e^{\frac{T}{\lambda_0 - \mu}} \|A_\mu^\varepsilon x\|) \\ &\quad + \lambda_0^{-1} \|J_\lambda^\varepsilon y_{\varepsilon,\lambda}(t) - J_\mu^\varepsilon y_{\varepsilon,\mu}(t)\|^2 \end{aligned} \quad (2.10)$$

for all  $t \in [0, T]$ .

Now we estimate the last term on the right-hand side in (2.10).

Let  $z_{\varepsilon,\lambda}, z_{\varepsilon,\mu} \in X$  and denote  $J_\lambda^\varepsilon z_{\varepsilon,\lambda} = Y_{\varepsilon,\lambda}$ ,  $J_\mu^\varepsilon z_{\varepsilon,\mu} = Y_{\varepsilon,\mu}$ .

We subtract the equations

$$Y_{\varepsilon,\lambda} + \lambda A^\varepsilon Y_{\varepsilon,\lambda} = z_{\varepsilon,\lambda},$$

$$Y_{\varepsilon,\mu} + \lambda A^\varepsilon Y_{\varepsilon,\mu} = z_{\varepsilon,\mu}$$

and multiply the difference by  $(Y_{\varepsilon,\lambda} - Y_{\varepsilon,\mu})$ . We get

$$\|Y_{\varepsilon,\lambda} - Y_{\varepsilon,\mu}\|^2 - \frac{\lambda}{\lambda_0} \|Y_{\varepsilon,\lambda} - Y_{\varepsilon,\mu}\|^2 \leq |\lambda - \mu| \|A^\varepsilon Y_{\varepsilon,\mu}\| \|Y_{\varepsilon,\lambda} - Y_{\varepsilon,\mu}\| + \|z_{\varepsilon,\lambda} - z_{\varepsilon,\mu}\| \|Y_{\varepsilon,\lambda} - Y_{\varepsilon,\mu}\|.$$

But  $\|A^\varepsilon Y_{\varepsilon,\mu}\| = \|A^\varepsilon J_\mu^\varepsilon z_{\varepsilon,\mu}\| = \|A_\mu^\varepsilon z_{\varepsilon,\mu}\|$  and so

$$\|J_\lambda^\varepsilon z_{\varepsilon,\lambda} - J_\mu^\varepsilon z_{\varepsilon,\mu}\| \leq \frac{1}{1 - \frac{\lambda}{\lambda_0}} |\lambda - \mu| \|A_\mu^\varepsilon z_{\varepsilon,\mu}\| + \frac{1}{1 - \frac{\lambda}{\lambda_0}} \|z_{\varepsilon,\lambda} - z_{\varepsilon,\mu}\|.$$

We go back to (2.10) and write

$$\begin{aligned} \frac{1}{2} \frac{d}{dt} \|y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)\|^2 &\leq (e^{\frac{T}{\lambda_0 - \lambda}} \|A_\lambda^\varepsilon x\| + e^{\frac{T}{\lambda_0 - \mu}} \|A_\mu^\varepsilon x\|)(\lambda e^{\frac{T}{\lambda_0 - \lambda}} \|A_\lambda^\varepsilon x\| + \mu e^{\frac{T}{\lambda_0 - \mu}} \|A_\mu^\varepsilon x\|) \\ &\quad + \frac{2}{\lambda_0} \left\{ \frac{1}{(1 - \frac{\lambda}{\lambda_0})^2} |\lambda - \mu|^2 \|A_\mu^\varepsilon y_{\varepsilon,\mu}(t)\|^2 + \frac{1}{(1 - \frac{\lambda}{\lambda_0})^2} \|y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)\|^2 \right\}. \end{aligned}$$

Using (2.8) and (2.9) and integrating with respect to  $t$  we obtain

$$\begin{aligned} \|y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)\|^2 &\leq 2\|A^\varepsilon x\|^2 \left( \frac{e^{\frac{T}{\lambda_0-\lambda}}}{1-\frac{\lambda}{\lambda_0}} + \frac{e^{\frac{T}{\lambda_0-\mu}}}{1-\frac{\mu}{\lambda_0}} \right) \left( \frac{\lambda e^{\frac{T}{\lambda_0-\lambda}}}{1-\frac{\lambda}{\lambda_0}} + \frac{\mu e^{\frac{T}{\lambda_0-\mu}}}{1-\frac{\mu}{\lambda_0}} \right) t \\ &\quad + \frac{4}{\lambda_0} \frac{1}{(1-\frac{\lambda}{\lambda_0})^2} |\lambda - \mu|^2 \frac{e^{\frac{2T}{\lambda_0-\mu}}}{(1-\frac{\mu}{\lambda_0})^2} \|A^\varepsilon x\|^2 t \\ &\quad + \frac{4}{\lambda_0} \frac{1}{(1-\frac{\lambda}{\lambda_0})^2} \int_0^t \|y_{\varepsilon,\lambda}(\tau) - y_{\varepsilon,\mu}(\tau)\|^2 d\tau. \end{aligned}$$

By Gronwall's lemma we deduce that

$$\begin{aligned} \|y_{\varepsilon,\lambda}(t) - y_{\varepsilon,\mu}(t)\|^2 &\leq 2\|A^\varepsilon x\|^2 \left\{ \left( \frac{e^{\frac{T}{\lambda_0-\lambda}}}{1-\frac{\lambda}{\lambda_0}} + \frac{e^{\frac{T}{\lambda_0-\mu}}}{1-\frac{\mu}{\lambda_0}} \right) \left( \frac{\lambda e^{\frac{T}{\lambda_0-\lambda}}}{1-\frac{\lambda}{\lambda_0}} + \frac{\mu e^{\frac{T}{\lambda_0-\mu}}}{1-\frac{\mu}{\lambda_0}} \right) \right. \\ &\quad \left. + \frac{2}{\lambda_0} \frac{1}{(1-\frac{\lambda}{\lambda_0})^2} |\lambda - \mu|^2 \frac{e^{\frac{2T}{\lambda_0-\mu}}}{(1-\frac{\mu}{\lambda_0})^2} \right\} T \exp\left( \frac{4}{\lambda_0} \frac{1}{(1-\frac{\lambda}{\lambda_0})^2} t \right). \end{aligned}$$

We pass to the limit as  $\mu \rightarrow 0$  and recall that  $x \in \mathcal{X}$ , i.e.,  $\sup_{\varepsilon \in (0,1]} \|A^\varepsilon x\| < \infty$ . We obtain

$$\begin{aligned} \|y_{\varepsilon,\lambda}(t) - y_\varepsilon(t)\|^2 &\leq 2 \left( \sup_{\varepsilon \in (0,1]} \|A^\varepsilon x\| \right)^2 \lambda \left\{ \left( \frac{e^{\frac{T}{\lambda_0-\lambda}}}{1-\frac{\lambda}{\lambda_0}} + e^{\frac{T}{\lambda_0}} \right) \frac{e^{\frac{T}{\lambda_0-\lambda}}}{1-\frac{\lambda}{\lambda_0}} + \frac{2}{\lambda_0} \frac{\lambda e^{\frac{2T}{\lambda_0-\mu}}}{(1-\frac{\lambda}{\lambda_0})^2} \right\} T \\ &\quad \times \exp\left( \frac{4}{\lambda_0} \frac{1}{(1-\frac{\lambda}{\lambda_0})^2} t \right). \end{aligned}$$

Passing to the limit as  $\lambda \rightarrow 0$  we finally deduce that

$$\lim_{\lambda \rightarrow 0} \|y_{\varepsilon,\lambda}(t) - y_\varepsilon(t)\| = 0$$

uniformly with respect to  $\varepsilon$ . This implies that (2.6) takes place uniformly with respect to  $\varepsilon$ , as claimed.

Taking into account the convergences (2.5) and (2.6) we can fix  $\lambda = \lambda_*$ , sufficiently small such that

$$|(e^{-tA_{\lambda_*}} x - e^{-tA} x, \varphi)| \leq \frac{\delta}{3} \tag{2.11}$$

and

$$|(e^{-tA_{\lambda_*}^\varepsilon} x - e^{-tA^\varepsilon} x, \varphi)| \leq \frac{\delta}{3} \tag{2.12}$$

with  $\delta$  arbitrary but fixed and independent of  $\varepsilon \in (0, 1]$ .

Resuming (2.4) with  $\lambda = \lambda_*$  it remains to estimate  $|(e^{-tA_{\lambda_*}^\varepsilon} x - e^{-tA_{\lambda_*}} x, \varphi)|$ .

Using the representation formula of the semigroup we can write

$$e^{-tA_{\lambda_*}^\varepsilon} x = \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} (A_{\lambda_*}^\varepsilon)^k x \tag{2.13}$$

and we prove that

$$(A_{\lambda_*}^\varepsilon)^k x \rightharpoonup A_{\lambda_*}^k x \quad \text{as } \varepsilon \rightarrow 0. \tag{2.14}$$

Indeed, taking into account (2.1) we have that

$$((A_{\lambda_*}^\varepsilon)^k x, \varphi) = \left( \frac{1}{\lambda_*^k} (I - J_{\lambda_*}^\varepsilon)^k x, \varphi \right) \rightarrow \left( \frac{1}{\lambda_*^k} (I - J_{\lambda_*})^k x, \varphi \right) = (A_{\lambda_*}^k x, \varphi),$$

as  $\varepsilon \rightarrow 0$ , for any  $\varphi \in X$ .

By (2.13) we get for each  $x \in \mathcal{X}$  that

$$\lim_{\varepsilon \rightarrow 0} (e^{-tA_{\lambda_*}^\varepsilon} x - e^{-tA_{\lambda_*}} x, \varphi) = 0 \tag{2.15}$$

and therefore we can write

$$|(e^{-tA_{\lambda_*}^\varepsilon} x - e^{-tA_{\lambda_*}} x, \varphi)| \leq \frac{\delta}{3},$$

for  $\varepsilon$  sufficiently small. Resuming (2.4) with  $\lambda = \lambda_*$  and taking into account (2.11)–(2.12) and (2.15) we get that

$$|(e^{-tA^\varepsilon} x - e^{-tA} x, \varphi)| \leq \delta,$$

for  $\varepsilon$  sufficiently small. Since  $\delta$  is arbitrary we obtain (2.3) for  $x \in \mathcal{X}$ .

Now, let us assume that  $x \in X$ . Since  $\mathcal{X}$  is dense in  $X$  we can take a sequence  $x_n \in \mathcal{X}$  such that

$$x_n \rightarrow x \quad \text{in } X, \text{ as } n \rightarrow \infty.$$

Let us denote

$$y_n^\varepsilon(t) = e^{-tA^\varepsilon} x_n, \quad y^\varepsilon(t) = e^{-tA^\varepsilon} x, \quad y(t) = e^{-tA} x.$$

We need to prove that

$$y^\varepsilon(t) \rightarrow y(t) \quad \text{in } X, \text{ uniformly with respect to } t \in [0, T]. \quad (2.16)$$

We compute

$$\begin{aligned} (y^\varepsilon(t) - y(t), \varphi) &= (e^{-tA^\varepsilon} x - e^{-tA} x, \varphi) \\ &= (e^{-tA^\varepsilon} x - e^{-tA^\varepsilon} x_n, \varphi) + (e^{-tA^\varepsilon} x_n - e^{-tA} x_n, \varphi) + (e^{-tA} x_n - e^{-tA} x, \varphi). \end{aligned}$$

We have

$$|(e^{-tA} x_n - e^{-tA} x, \varphi)| \leq \|e^{-tA}\| \|x_n - x\| \|\varphi\| \leq \frac{\delta}{3}, \quad \text{for } n = n_0$$

sufficiently large. (Here  $\|e^{-tA}\|$  is the operatorial norm of  $e^{-tA}$  in  $X$ .) Then, for  $n = n_0$

$$|(e^{-tA^\varepsilon} x_{n_0} - e^{-tA} x_{n_0}, \varphi)| = |((e^{-tA^\varepsilon} - e^{-tA}) x_{n_0}, \varphi)|$$

converges to zero due to the results at the 1st step, because  $x_{n_0} \in \mathcal{X}$  and so we can write

$$|(e^{-tA^\varepsilon} x_{n_0} - e^{-tA} x_{n_0}, \varphi)| \leq \frac{\delta}{3},$$

for  $\varepsilon$  sufficiently small. Finally,

$$|(e^{-tA^\varepsilon} x - e^{-tA^\varepsilon} x_n, \varphi)| \leq \|e^{-tA^\varepsilon}\| \|x_n - x\| \|\varphi\| \leq \frac{\delta}{3} \quad \text{for } n = n_0, t \in [0, T].$$

Summing up these three results we get (2.16) as claimed and end the proof.  $\square$

Theorem 2.1 applies as well to the nonhomogeneous Cauchy problem

$$\begin{aligned} \frac{dy}{dt}(t) + Ay(t) &= f(t) \quad \text{a.e. } t \in (0, T), \\ y(0) &= x \in X, \end{aligned} \quad (2.17)$$

with  $A$  a quasi  $m$ -accretive operator.

**Corollary 2.2.** Let  $f \in L^1(0, T; X)$  and let  $\{A^\varepsilon\}_{\varepsilon>0}$  be a family of linear quasi  $m$ -accretive operators in a Hilbert space  $X$  satisfying the hypotheses of Theorem 2.1. Then,

$$y_\varepsilon(t) \rightarrow y(t) \quad \text{in } X, \text{ as } \varepsilon \rightarrow 0, \text{ uniformly on } [0, T], \quad (2.18)$$

where  $y_\varepsilon$  is the mild solution to

$$\begin{aligned} \frac{dy_\varepsilon}{dt}(t) + A^\varepsilon y_\varepsilon(t) &= f(t), \quad t \in (0, T), \\ y_\varepsilon(0) &= x. \end{aligned} \quad (2.19)$$

**Proof.** If (2.1) is fulfilled, the study of the convergence of the solution to (2.19) to the solution to (2.17) reduces to the convergence of

$$y_\varepsilon(t) = e^{-tA^\varepsilon} x + \int_0^t e^{-(t-s)A^\varepsilon} f(s) ds.$$

We have

$$|(y_\varepsilon(t) - y(t), \varphi)| \leq |(e^{-tA^\varepsilon} x - e^{-tA} x, \varphi)| + \int_0^t |(e^{-(t-s)A^\varepsilon} f(s) - e^{-(t-s)A} f(s), \varphi)| ds.$$

Since  $e^{-sA^\varepsilon} f(s) - e^{-sA} f(s) \rightarrow 0$  for any  $s$ , by Theorem 2.1 and

$$|(e^{-(t-s)A^\varepsilon} f(s) - e^{-(t-s)A} f(s), \varphi)| \leq 2e^{\lambda_0^{-1}t} \|f(s)\| \|\varphi\| \quad \text{a.e. } s \in (0, T),$$

we have by the Lebesgue dominated convergence theorem that the integral converges to zero and so

$$y_\varepsilon(t) \rightarrow y(t) \quad \text{as } \varepsilon \rightarrow 0 \text{ for any } t \in [0, T].$$

This ends the proof.  $\square$

**Remark 2.3.** We remark that by the inspection of the proof, it is sufficient to formulate condition (2.1) for a sequence  $(\lambda_j) \subset (0, \infty)$  with  $\lambda_j \rightarrow 0$  instead of the interval  $(0, \lambda_0)$ .

### 3. Example: a singular perturbed equation

Let  $\Omega = (0, L) \times \Omega_1$ , where  $\Omega_1$  is an open bounded subset of  $\mathbb{R}^{N-1}$  with the boundary  $\partial\Omega_1$  smooth enough. Let us denote  $x = (x_1, x_2, \dots, x_N)$  and  $x' = (x_2, \dots, x_N)$ . We consider the problem

$$\frac{\partial y}{\partial t} + \frac{\partial y}{\partial x_1} - \sum_{i=2}^N \frac{\partial}{\partial x_i} \left( a_i(x) \frac{\partial y}{\partial x_i} \right) = f \quad \text{in } Q = (0, T) \times \Omega, \tag{3.1}$$

$$y(0, x) = y_0(x) \quad \text{in } \Omega, \tag{3.2}$$

$$y(t, (0, x')) = (By(t))(x') \quad \text{on } \Sigma_0 = (0, T) \times \Omega_1, \tag{3.3}$$

$$y(t, x) = 0 \quad \text{on } \Sigma_1 = (0, T) \times (0, L) \times \partial\Omega_1. \tag{3.4}$$

Here  $B \in \mathcal{L}(L^2(\Omega), L^2(\Omega_1))$ , and let  $B_M = \|B\|_{\mathcal{L}(L^2(\Omega), L^2(\Omega_1))}$ . We assume that  $f \in L^1(0, T; L^2(\Omega))$  and

$$a_i \in L^\infty(\Omega), \quad a_i \geq a_0 > 0 \quad \text{a.e. in } \Omega, \quad i = 2, \dots, N.$$

Such a problem arises for instance in population dynamics with age-structure and diffusion in space, where  $x_1$  stands for the age and  $\Omega_1$  is the space habitat. In this case (3.3) reads

$$y(t, (0, x')) = (By(t))(x') = \int_0^L \beta(x_1, x') y(t, (x_1, x')) dx_1, \tag{3.5}$$

with  $\beta$  a known function which describes the demographic process (see [1,2]). Further we shall use this form of  $B$ , assuming that

$$\beta \in C^2(\overline{\Omega}), \quad \beta(x_1, x') \in [0, \beta_M], \quad \forall (x_1, x') \in \Omega.$$

We intend to show the existence of the solution to (3.1)–(3.4) in a constructive manner by applying the result previously given.

To this end we consider the perturbed problem for  $\varepsilon > 0$ ,

$$\frac{\partial y_\varepsilon}{\partial t} + \frac{\partial y_\varepsilon}{\partial x_1} - \varepsilon \frac{\partial^2 y_\varepsilon}{\partial x_1^2} - \sum_{i=2}^N \frac{\partial}{\partial x_i} \left( a_i(x) \frac{\partial y_\varepsilon}{\partial x_i} \right) = f \quad \text{in } Q = (0, T) \times \Omega, \tag{3.6}$$

$$y_\varepsilon(0, x) = y_0(x) \quad \text{in } \Omega, \tag{3.7}$$

$$\left( y_\varepsilon - \varepsilon \frac{\partial y_\varepsilon}{\partial x_1} \right) (t, (0, x')) = (By_\varepsilon(t))(x') \quad \text{on } \Sigma_0 = (0, T) \times \Omega_1, \tag{3.8}$$

$$y_\varepsilon(t, x) = 0 \quad \text{on } \Sigma_1 = (0, T) \times (0, L) \times \partial\Omega_1, \quad (3.9)$$

$$\frac{\partial y_\varepsilon}{\partial x_1}(t, (L, x')) = 0 \quad \text{on } \Sigma_0 = (0, T) \times \Omega_1, \quad (3.10)$$

obtained by completing the operator acting in (3.1) up to a parabolic operator and assigning appropriate boundary conditions. We shall prove that this perturbed problem approximates in a weak sense (3.1)–(3.4). Moreover, if the aim is the numerical computation of the solution to (3.1)–(3.4), this can be fulfilled by computing the more stable solution to (3.6)–(3.10).

We denote  $X = L^2(\Omega)$ , by  $V$  the Sobolev space

$$H_0^1(\Omega_1) = \left\{ u \in L^2(\Omega_1); \frac{\partial u}{\partial x_i} \in L^2(\Omega_1), \forall i = 2, \dots, N, u|_{\partial\Omega_1} = 0 \right\}$$

and by  $V' = H^{-1}(\Omega_1)$  the dual of  $V$ . The notation  $u|_{\partial\Omega_1}$  means the trace of  $u$  on  $\partial\Omega_1$ . We also denote  $W = L^2(0, L; V)$ ,  $W' = L^2(0, L; V')$  and define the duality between  $W'$  and  $W$  by

$$\langle v, \psi \rangle_{W', W} = \int_0^L \langle v(x_1), \psi(x_1) \rangle_{V', V} dx_1, \quad \text{for any } v \in W', \psi \in W.$$

We write (3.1)–(3.4) in the abstract form

$$\begin{aligned} \frac{dy}{dt}(t) + Ay(t) &= f(t) \quad \text{a.e. } t \in (0, T), \\ y(0) &= y_0 \end{aligned} \quad (3.11)$$

where the operator  $A$  is defined below in two steps. First we introduce

$$\begin{aligned} A_0 : D(A_0) \subset W &\rightarrow W', \quad D(A_0) = \left\{ v \in W; \frac{\partial v}{\partial x_1} \in W', v(0, x') = (Bv)(x') \right\}, \\ \langle A_0 v, \psi \rangle_{W', W} &= \left\langle \frac{\partial v}{\partial x_1}, \psi \right\rangle_{W', W} + \sum_{i=2}^N \int_{\Omega} a_i \frac{\partial v}{\partial x_i} \frac{\partial \psi}{\partial x_i} dx, \quad \text{for any } v \in W, \psi \in W. \end{aligned}$$

Then we define

$$\begin{aligned} A : D(A) \subset L^2(\Omega) &\rightarrow L^2(\Omega), \quad D(A) = \{ v \in D(A_0); A_0 v \in L^2(\Omega) \}, \\ Av &= A_0 v = \frac{\partial v}{\partial x_1} - \sum_{i=2}^N \frac{\partial}{\partial x_i} \left( a_i(x) \frac{\partial v}{\partial x_i} \right) \quad \text{for any } v \in D(A). \end{aligned}$$

The singular perturbed problem is written as an abstract Cauchy problem

$$\begin{aligned} \frac{dy_\varepsilon}{dt}(t) + A^\varepsilon y_\varepsilon(t) &= f(t) \quad \text{a.e. } t \in (0, T), \\ y_\varepsilon(0) &= y_0 \end{aligned} \quad (3.12)$$

by introducing

$$\begin{aligned} A^\varepsilon : D(A^\varepsilon) \subset L^2(\Omega) &\rightarrow L^2(\Omega), \\ D(A^\varepsilon) &= \left\{ v \in H^2(\Omega); v(x_1, x') = 0 \text{ on } (0, L) \times \partial\Omega_1, \right. \\ &\quad \left. (v - \varepsilon \frac{\partial v}{\partial x_1})(0, x') = (Bv)(x') \text{ in } \Omega_1, \frac{\partial v}{\partial x_1}(L, x') = 0 \text{ in } \Omega_1 \right\}, \\ A^\varepsilon v &= \frac{\partial v}{\partial x_1} - \varepsilon \frac{\partial^2 v}{\partial x_1^2} - \sum_{i=2}^N \frac{\partial}{\partial x_i} \left( a_i(x) \frac{\partial v}{\partial x_i} \right) \quad \text{for any } v \in D(A^\varepsilon). \end{aligned}$$

In the sequel we shall show that Corollary 2.2 applies.

First we show that  $A^\varepsilon$  is quasi  $m$ -accretive on  $L^2(\Omega)$ . This means that  $I + \lambda A^\varepsilon$  is positive semidefinite for  $0 < \lambda < \lambda_0$  and that the equation  $(I + \lambda A^\varepsilon)v = g$  has a solution  $v \in D(A)$  for any  $g \in L^2(\Omega)$ .

For simplicity we denote the norm and scalar product in  $L^2(\Omega)$  without subscript. Let us compute

$$\begin{aligned} (A^\varepsilon v, v) &= \int_0^L \int_{\Omega_1} \frac{\partial}{\partial x_1} \left( v - \varepsilon \frac{\partial v}{\partial x_1} \right) v \, dx_1 \, dx' + \sum_{i=2}^N \int_{\Omega} a_i \left( \frac{\partial v}{\partial x_i} \right)^2 \, dx \\ &= \int_{\Omega_1} \left( v - \varepsilon \frac{\partial v}{\partial x_1} \right) v \Big|_0^L \, dx' - \int_{\Omega} \left( v - \varepsilon \frac{\partial v}{\partial x_1} \right) \frac{\partial v}{\partial x_1} \, dx + \sum_{i=2}^N \int_{\Omega} a_i \left( \frac{\partial v}{\partial x_i} \right)^2 \, dx \\ &= \|v(L)\|_{L^2(\Omega_1)}^2 - \int_{\Omega_1} (Bv)v(0) \, dx' - \frac{1}{2} \|v(L)\|_{L^2(\Omega_1)}^2 + \frac{1}{2} \|v(0)\|_{L^2(\Omega_1)}^2 \\ &\quad + \sum_{i=2}^N \int_{\Omega} a_i \left( \frac{\partial v}{\partial x_i} \right)^2 \, dx + \varepsilon \left\| \frac{\partial v}{\partial x_1} \right\|^2 \\ &\geq \frac{1}{2} \|v(L)\|_{L^2(\Omega_1)}^2 - \frac{1}{2} B_M^2 \|v\|^2 + \varepsilon \left\| \frac{\partial v}{\partial x_1} \right\|^2 + a_0 \sum_{i=2}^N \left\| \frac{\partial v}{\partial x_i} \right\|^2 \end{aligned}$$

with  $B_M = \beta_M \sqrt{L}$ , which shows that  $(I + \lambda A^\varepsilon v, v) \geq 0$  if  $0 < \lambda \leq \lambda_0 = \frac{2}{B_M^2}$ ,  $\lambda_0$  being independent of  $\varepsilon$ .

For the quasi  $m$ -accretivity we consider the elliptic problem

$$\frac{\partial v_\varepsilon}{\partial x_1} - \varepsilon \frac{\partial^2 v_\varepsilon}{\partial x_1^2} - \sum_{i=2}^N \frac{\partial}{\partial x_i} \left( a_i(x) \frac{\partial v_\varepsilon}{\partial x_i} \right) + \frac{v_\varepsilon}{\lambda} = \frac{g}{\lambda} \quad \text{in } \Omega, \tag{3.13}$$

$$\left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right) (0, x') = B v_\varepsilon(x), \quad x' \in \Omega_1, \tag{3.14}$$

$$v_\varepsilon(x) = 0 \quad \text{on } (0, L) \times \partial\Omega_1, \tag{3.15}$$

$$\frac{\partial v_\varepsilon}{\partial x_1} (L, x') = 0, \quad x' \in \Omega_1, \tag{3.16}$$

with  $g \in L^2(\Omega)$ . Applying a fixed point theorem we shall show that this problem has a unique solution  $v_\varepsilon \in H^2(\Omega)$ . To this end we fix  $\omega \in H^1(\Omega)$  and replace the boundary condition at  $x_1 = 0$  by

$$\left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right) (0, x') = (B\omega)(x'), \quad x' \in \Omega_1. \tag{3.17}$$

Problem (3.13), (3.15)–(3.17) has a unique solution ensured by the general theory of elliptic equations (see [4]). Thus, if  $\omega \in L^2(\Omega)$  it follows that  $v_\varepsilon \in H^1(\Omega)$  and if  $\omega \in H^1(\Omega)$  we get  $v_\varepsilon \in H^2(\Omega)$ .

Then we can define a mapping  $\Phi : L^2(\Omega) \rightarrow L^2(\Omega)$ ,  $\Phi\omega = v_\varepsilon$  (the solution to (3.13), (3.15)–(3.17)) which is a contraction for  $\lambda \in (0, \lambda_0)$ . This follows by a few computations leading to the estimate

$$\|v_\varepsilon - \bar{v}_\varepsilon\|^2 \leq \frac{\lambda}{2} B_M^2 \|\omega - \bar{\omega}\|^2.$$

Since  $\frac{\lambda}{2} B_M^2 < 1$  for  $\lambda < \lambda_0$  we deduce that  $\Phi$  has a fixed point which turns out to be the unique solution to (3.13)–(3.16).

Next we have to show that

$$(I + \lambda A^\varepsilon)^{-1} g \rightarrow (I + \lambda A)^{-1} g \quad \text{as } \varepsilon \rightarrow 0, \text{ for any } g \in L^2(\Omega). \tag{3.18}$$

By multiplying (3.13) by  $v_\varepsilon$  and integrating over  $\Omega$  we get the estimate

$$\left( 1 - \frac{\lambda}{\lambda_0} \right) \|v_\varepsilon\|^2 + \lambda \left( \frac{1}{2} \|v_\varepsilon(L)\|_{L^2(\Omega_1)}^2 + \varepsilon \left\| \frac{\partial v_\varepsilon}{\partial x_1} \right\|^2 + a_0 \sum_{i=2}^N \left\| \frac{\partial v_\varepsilon}{\partial x_i} \right\|^2 \right) \leq \|g\| \|v_\varepsilon\|, \tag{3.19}$$

whence

$$\|v_\varepsilon\| \leq \frac{1}{1 - \frac{\lambda}{\lambda_0}} \|g\|. \tag{3.20}$$

We deduce that



$$v_\varepsilon \rightharpoonup v \quad \text{in } L^2(\Omega) \text{ as } \varepsilon \rightarrow 0,$$

$$\frac{\partial v_\varepsilon}{\partial x_i} \rightharpoonup \frac{\partial v}{\partial x_i} \quad \text{in } L^2(\Omega) \text{ as } \varepsilon \rightarrow 0, \quad i = 2, \dots, N.$$

Moreover, still by (3.19) there exists  $\xi \in L^2(\Omega)$  such that

$$\sqrt{\varepsilon} \frac{\partial v_\varepsilon}{\partial x_1} \rightharpoonup \xi \quad \text{in } L^2(\Omega) \text{ as } \varepsilon \rightarrow 0.$$

Combining these results we can write that

$$v_\varepsilon \rightharpoonup v \quad \text{in } L^2(0, L; V) \text{ as } \varepsilon \rightarrow 0,$$

$$\varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \rightharpoonup 0 \quad \text{in } L^2(\Omega) \text{ as } \varepsilon \rightarrow 0,$$

$$v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \rightharpoonup v \quad \text{in } L^2(\Omega) \text{ as } \varepsilon \rightarrow 0.$$

On the other hand by (3.13) we compute

$$\left\| \frac{\partial}{\partial x_1} \left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right) \right\|_{L^2(0, L; V')} = \sup_{\substack{\psi \in L^2(0, L; V) \\ \|\psi\|_{L^2(0, L; V)} \leq 1}} \int_{\Omega} \left( \sum_{i=2}^N a_i(x) \frac{\partial v_\varepsilon}{\partial x_i} \frac{\partial \psi}{\partial x_i} - \frac{v_\varepsilon}{\lambda} \psi + \frac{g}{\lambda} \psi \right) dx$$

which is bounded independently of  $\varepsilon$ . Therefore

$$\frac{\partial}{\partial x_1} \left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right) \rightharpoonup \frac{\partial v}{\partial x_1} \quad \text{in } L^2(0, L; V') \text{ as } \varepsilon \rightarrow 0.$$

Writing now that

$$\left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right)(x_1, x') - \left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right)(0, x') = \int_0^{x_1} \frac{\partial}{\partial x_1} \left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right)(x_1, x') dx_1$$

we deduce that  $\{(v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1})(0)\}_{\varepsilon > 0}$  is bounded in  $V'$  and so there exists  $l \in V'$  such that

$$\left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right)(0) \rightharpoonup l \quad \text{in } V' \text{ as } \varepsilon \rightarrow 0.$$

By passing to the weak limit in the previous equality we get

$$v(x_1, x') - l = \int_0^{x_1} \frac{\partial v}{\partial x_1}(x_1, x') dx_1,$$

whence we see that  $l = v(0, x')$ .

On the other hand by passing to the limit in (3.14) we get that

$$v(0, x') = \int_0^L \beta(x_1, x') v(x_1, x') dx_1.$$

In conclusion, putting together all properties of the limit  $v$  we get that  $v \in D(A)$ .

Passing now to the limit in the weak form of (3.13)–(3.16), i.e.,

$$\lambda \int_0^L \int_{\Omega_1} \frac{\partial}{\partial x_1} \left( v_\varepsilon - \varepsilon \frac{\partial v_\varepsilon}{\partial x_1} \right) \phi dx_1 dx' + \int_{\Omega} \left( \lambda \sum_{i=2}^N a_i \frac{\partial v_\varepsilon}{\partial x_i} \frac{\partial \phi}{\partial x_i} + v_\varepsilon \phi \right) dx = \int_{\Omega} g \phi dx \quad \text{for any } \phi \in L^2(0, L; V),$$

we obtain on the basis of the previous convergences that

$$\lambda \int_0^L \left\langle \frac{\partial v}{\partial x_1}(x_1), \phi(x_1) \right\rangle_{V', V} dx_1 + \int_{\Omega} \left( \lambda \sum_{i=2}^N a_i \frac{\partial v}{\partial x_i} \frac{\partial \phi}{\partial x_i} + v \phi \right) dx = \int_{\Omega} g \phi dx$$

which is the weak form of the problem  $(I + \lambda A)^{-1}g = v$ , equivalently to

$$\lambda \frac{\partial v}{\partial x_1} - \lambda \sum_{i=2}^N \frac{\partial}{\partial x_i} \left( a_i(x) \frac{\partial v}{\partial x_i} \right) + v = g \quad \text{in } \Omega, \tag{3.21}$$

$$v(0, x') = (Bv)(x'), \quad x' \in \Omega_1, \tag{3.22}$$

$$v(x) = 0 \quad \text{on } (0, L) \times \partial\Omega_1. \tag{3.23}$$

We have proved in fact (3.18).

Analyzing the previous proof we remark that due to the lack of compactness in  $L^2(\Omega)$  the family of operators  $\{A^\varepsilon\}_{\varepsilon>0}$  is not strongly convergent in resolvents and so the classical Trotter–Kato theorem is not applicable. Here, the result given in Section 2 plays its role.

Relation (3.18) also implies that  $A$  is quasi  $m$ -accretive. Indeed, by (3.20), (3.18) and the lower semicontinuity property of the norm we have that

$$\|(I + \lambda A)^{-1}g\| \leq \liminf_{\varepsilon \rightarrow 0} \|(I + \lambda A^\varepsilon)^{-1}g\| \leq \frac{1}{1 - \frac{\lambda}{\lambda_0}} \|g\|$$

which shows that  $A$  is quasi  $m$ -accretive.

Next we show that for  $k = 2, 3, \dots$  we have

$$(I + \lambda A^\varepsilon)^{-k}g \rightharpoonup (I + \lambda A)^{-k}g \quad \text{as } \varepsilon \rightarrow 0, \text{ for any } g \in L^2(\Omega). \tag{3.24}$$

Again we denote

$$(I + \lambda A^\varepsilon)^{-1}g = v_\varepsilon, \quad (I + \lambda A)^{-1}g = v$$

and we have to prove first that

$$(I + \lambda A^\varepsilon)^{-2}g = (I + \lambda A^\varepsilon)^{-1}v_\varepsilon \rightharpoonup (I + \lambda A)^{-1}v = (I + \lambda A)^{-2}g \quad \text{as } \varepsilon \rightarrow 0, \tag{3.25}$$

knowing by (3.18) that  $v_\varepsilon \rightharpoonup v$  in  $L^2(\Omega)$ . We have to study the solution to the equation

$$z_\varepsilon + \lambda A^\varepsilon z_\varepsilon = v_\varepsilon.$$

We proceed exactly in the same way as for the problem (3.13)–(3.16) and take into account that the function  $g$  in (3.13) is replaced here by  $v_\varepsilon$  which tends weakly to  $v$  in  $L^2(\Omega)$ . We deduce that

$$\begin{aligned} z_\varepsilon &\rightharpoonup z \quad \text{in } L^2(0, L; V), \text{ as } \varepsilon \rightarrow 0, \\ \frac{\partial z_\varepsilon}{\partial x_1} &\rightharpoonup \frac{\partial z}{\partial x_1} \quad \text{in } L^2(0, L; V'), \text{ as } \varepsilon \rightarrow 0, \end{aligned}$$

where  $z$  is the solution to the equation  $z + \lambda Az = v$ . This means that (3.25) is verified. For the next powers  $k = 3, 4, \dots$  we proceed by induction.

Finally we have to check (2.2). Let  $x \in X$ . Then there exists a sequence  $x_n \in C_0^\infty((0, L) \times \Omega_1)$  such that

$$x_n \rightarrow x \quad \text{as } n \rightarrow \infty.$$

Let  $z_n \in C^\infty([0, L])$  have the properties

$$z_n(0) = 1, \quad z_n(L) = 0, \quad z'_n(0) = 0, \quad z'_n(L) = 0$$

and

$$z_n \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

Arguing as in [5] we consider the sequence

$$u_n(x_1, x') = k_n(x')z_n(x_1) + x_n(x_1, x') \tag{3.26}$$

where  $k_n$  is computed such that  $u_n$  satisfies the boundary condition at  $x_1 = 0$ , i.e.,  $u_n(0, x') = \int_0^L \beta(x_1, x')u_n(x_1, x') dx_1$ .

We get

$$k_n(x') = \frac{\int_0^L \beta(x_1, x')x_n(x_1, x') dx_1}{1 - \int_0^L \beta(x_1, x')z_n(x_1) dx_1}$$

and we remark that for  $n$  large the denominator does not vanish since  $z_n \rightarrow 0$ .

Also we note that  $u_n \in D(A^\varepsilon)$  for all  $\varepsilon > 0$ . Moreover, we easily check that

$$\sup_{\varepsilon \in (0,1]} \|A^\varepsilon u_n\| < \infty \quad \text{for each } n \geq 1,$$

i.e.,  $u_n \in \mathcal{X}$  defined in (2.2) for all  $n \geq 1$ . Since by (3.26)

$$u_n \rightarrow x \quad \text{in } X, \text{ as } n \rightarrow \infty$$

we deduce that  $\overline{\mathcal{X}} = X$ .

Hence the hypothesis of Corollary 2.2 being verified we conclude that  $y_\varepsilon(t)$  the solution to (3.6)–(3.10) converges to  $y(t)$  the solution to (3.1)–(3.4),

$$y_\varepsilon(t) \rightharpoonup y(t) \quad \text{in } L^2(\Omega) \text{ uniformly on } [0, T].$$

In this way the sequence of solutions  $y_\varepsilon(t)$  serves as an approximating solution to  $y(t)$ .

The technique can be used if for instance one has to study the asymptotic behavior of the solution to the problem (3.6)–(3.10) depending on the small parameter  $\varepsilon$ , when  $\varepsilon \rightarrow 0$ . Thus it can be proved that the solution behaves at limit as the solution to (3.1)–(3.4).

### Acknowledgments

The author would like to thank to the reviewer for the extremely careful and pertinent observations and comments he made on the early version of the paper. This work has been supported by the CNCSIS project PCCE-55/2008, "Sisteme diferentiale in analiza neliniara si aplicatii".

### References

- [1] C. Cusulin, M. Iannelli, G. Marinoschi, Age-structured diffusion in a multi-layer environment, *Nonlinear Anal. Real World Appl.* 6 (1) (2005) 207–233.
- [2] C. Cusulin, M. Iannelli, G. Marinoschi, Convergence in a multi-layer population model with age-structure, *Nonlinear Anal. Real World Appl.* 8 (2007) 887–902.
- [3] T. Eisner, A. Serény, On the weak analogue of the Trotter–Kato theorem, *Taiwanese J. Math.* 14 (2010) 1411–1416.
- [4] P. Grisvard, *Elliptic Problems in Nonsmooth Domains*, Monogr. Stud. in Math., vol. 24, Pitman, London, 1985.
- [5] M. Iannelli, G. Marinoschi, Approximation of a population dynamics model by parabolic regularization, in press.
- [6] K. Ito, F. Kappel, The Trotter–Kato theorem and approximation of PDEs, *Math. Comp.* 67 (1998) 21–44.
- [7] J.L. Lions, Perturbations singulieres dans les problemes aux limites et en controle optimal, *Lecture Notes in Math.*, vol. 323, Springer-Verlag, Berlin, 1973.
- [8] A. Pazy, *Semigroups of Linear Operators and Applications to Partial Differential Equations*, Springer-Verlag, 1983.
- [9] K. Yosida, *Functional Analysis*, sixth ed., Springer-Verlag, Berlin, 1980.